
ESTRUCTURA : COMANDOS II
 

COMANDOS II

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1 Accionador

de
embrague

2 Soporte de
palanca de
embrague

3 Palanca de
embrague

4 Tornillo
M6×30

20-80475

5 Tuerca

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/comandos ii.jpg


ESTRUCTURA : COMANDOS II
 

Ref. Título Código
6 Abrazadera

7 Tornillo
M6×16

20-80415

8 Cable de
embrague

9 Tornillo

10 Tuerca

11 Placa de
presión

12 Placa
inferior

13 Freno de e

14 Perno

15 Tornillo
M6×8

20-80420

16 Comandos
de manillar
izquierdo

17 Palanca de
cebador

18 Arandela
estriada

19 Arandela
?6

20-80510

20 Tornillo
M6×12

20-80400

21 Tornillo
M6×25

20-80405

22 Espejo
retrovisor

izq.

23 Espejo
retrovisor

der.

24 Botón de
arranque
eléctrico

25 Interruptor

                        2 / 3



ESTRUCTURA : COMANDOS II
 

Ref. Título Código
de control
accidental

26 Palanca de
freno

delantero

27 Cable de
freno

delantero

28

29 Tornillo de
ajuste de
cable de

freno
delantero

30 Tuerca aut

31 Tornillo de
freno

delantero

32 Tuerca M6

33 Abrazadera
de palanca

de freno
delantero

34 Resorte am
ortiguador

?6

20-80455

35 Tornillo
Allen 6×16

36 C. Palanca
freno

delantero
armada

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

